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SECTION – I
Note: Answer any FIVE of the following questions, choosing at least TWO from

each group. Each question carries TWO marks. 5 × 2 = 10

GROUP – A

1. Why the location of the sugar industry is is strictly confined to very close vicinity of sugarcane growing

area?

2. Write a short note on Srinagar or Mount Abu.

3. What is the need for irrigation development in India?

4. Why India is called a Sub-Continent?

GROUP – B
5. Explain organized and unorganized sector.

6. What were the four programmes launched by the government for eradication of poverty?

7. What are the general objectives of planning in India?

8. What is Planning and On what basis the countries are categorized as developed or under developed

countries.

SECTION – II

Note: Answer any FOUR of the following questions. Each question carries
ONE mark. 4 ×1 = 4

9. Name the industries based on Output and Investment.

10. Define Poverty line and Urbanisation.

11. Name the important forest based industries.

12. What are the challenges faced by the railways?

13. Expand NREP and TISCO.

14. What is HDI? Who is the chairman of Planning Commission in India?

SECTION – III
Note: Answer any FOUR of the following questions, choosing TWO from each

group. Each question carries FOUR marks. 4 × 4 = 16

GROUP – A

15. Describe the importance of Himalayas?

16. What are the factors favourable for the development of cotton textile industries in and around Mumbai

and Ahmedabad?



17. What are the advantages of road transport?

18. What are the problems of Population explosion in India?

GROUP – B

19. What are the achievements and failures of Planning in India?

20. What were the characteristics of Indian economy during the British period?

21. Explain the significance of service sector in Indian economy.

22. Explain the different concepts of inflation.

SECTION -IV

23. Mark the following in the given map of the world or India. 5 x 1 = 5

1. Buckingham canal 2. Aravallis 3. HQ of south western railways 4. NH 7 or 9 5. River Tapti

Or

6. Gandak project 7. Jamshedpur 8. Gandhi nagar 9. Minicoy island
10. Kandla port

Note: remember the marking of Seven sisters along with their capital.



Paper II
Geography and Economics

Class X A Sub: Social
Max. Marks: 15 PART – B Time: ½ hr
I. Choose the correct answer 10 × ½ = 5

1. The Rourkela steel plant was established with the collaboration of ( )

a) Russia b) France c) Britain d) Germany

2. The shipbuilding yard was established at ( )

a) Visakhapatnam b) Calcutta c) Mumbai d) Chennai

3. The Head quarters of South Central railway is ( )

a) Bangalore b) Chennai c) Secunderabad d) Vijayawada

4. Good transport means are quite essential for the existence of ( )

a) Humanity b) Democracy c) Nation d) Culture

5. This town has facilities for mountaineering and skating ( )

a) Mount Abu b) Varanasi c) Simla d) Srinagar

6. Economic planning is necessary for rapid growth or increase of ( )

a) National income b) Economic growth c) Socialistic society d) All of these

7. Food grains and raw materials are produced in the sector ( )

a) Primary b) Secondary c) Tertiary d) None of these

8. Modernization represents employment of work force in the sector ( )

a) Primary b) Secondary c) Tertiary d) Both B & C

9. This is mainly known for coffee and tea plantations ( )

a) Kerala b) Assam c) West Bengal d) Ooty

10. This is the largest sea port in India in terms of Sea-borne trade ( )

a) Kolkata b) Mumbai c) Visakhapatnam d) Chennai

II. Fill in the blanks 10× ½= 5

11. Natural harbours are found along a fairly ______________.

12. The best example for artificial harbour is ____________

13. Varanasi city is known for both __________ and _____________ cultures.

14. From 1865 to 1939 __________ was the capital of the government of India.

15. The North East Frontier railway HQ is ___________________

16. Silk industry is predominant in ____________

17. Banking and Commerce comes under _________sector.



18. The monetary authority in India is _________________.

19. The three annuals plans were formulated during ____________[years].

20. A major failure of planning in India is it could not achieve reduction in _________

III. Match the following 10 × ½ = 5
GROUP – A

21. 1978-83, 80-85 ( ) a) Reduction in inequalities

22. Planning Commission ( ) b) VII plan period

23. 1951-56 ( ) c) VI plan period

24. Distributional Justice ( ) d) I plan

25. 1969-74 ( ) e) 1956

f) IV plan period

g) 1950

h) 1951

GROUP – B

26. Southern railway ( ) a) Ahmedabad

27. Back waters ( ) b) Jaipur

28. Buckingham canal ( ) c) Chennai

29. North western railway ( ) d) Indian posts

30. Green channel ( ) e) Navigation

f) Kerala

g) Salt Water Lake


